Termes Manquants (J)
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Trouvez la valeur de chaque variable ci-dessous.

14 k + 13 = 12
15 270 + x = 15
15 e + 16 = 16
14 198 + y = 18
18 252 + w = 14
11 d = 11 = 12
14 342+ j = 19
11 e + 12 = 18

324 -

168 =

216 =

252 =

17

12

13

16

18

14

14

12

14

16

18

14

MathsLibres.com




Termes Manquants (J) Solutions
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Trouvez la valeur de chaque variable ci-dessous.

= 14 156 -~ 13 = 12 324 -+
k = 156 t =
= 15 270 = 18 = 15 238 +
x = 18 n =
= 15 256 - 16 = 16 168
e = 256 d =
= 14 198 - 11 = 18 216
y = 11 u =
= 18 252 = 18 = 14 252 =
w = 18 v =
= 11 132 - 11 = 12 192 +
d = 132 d =
= 14 342 - 18 = 19 234 -
] = 18 a =
= 11 216 -~ 12 = 18 224 -
e = 216 d =
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